Chapter 6 Review
1.
Determine the non-permissible values of x, in radians, for each expression.
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2.
Determine the non-permissible values, in radians, for the following equation.
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3.
Simplify each expression to one of the three primary trigonometric functions, sin x,
cos x, or tan x.
a)
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5.
Simplify each expression.

a)
2(csc2 x  cot2 x)

b)
cot2 x (sec2 x  1)
c)
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tan x cos2 x
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6.
Simplify each expression, then rewrite 
the expression as one of the three reciprocal trigonometric functions, csc x, sec x, or cot x.
a)
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b)
cos x  tan x sin x
c)
sin x  cos x cot x
7.
Verify the following equation is true for 
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sin4 x  cos4 x  2 sin2 x  1
8.
Write each expression as a single trigonometric function.

a)
sin 28° cos 35°  cos 28° sin 35°

b)
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9 .
Simplify and then give an exact value for each expression.

a)
cos 25° cos 5°  sin 25° sin 5°
b)
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10.
Write each expression as a single trigonometric function.

a)
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11.
Simplify each expression using a sum identity.

a)
sin (90°  A)

b)   cos (2(  A)

12.
Simplify each expression to a single primary trigonometric function.

a)
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b)
cos 3x cos x  sin 3x sin x
c)
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13.
Determine the exact value of each trigonometric expression.

a)
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b)
tan 15°

15.
If A and B are both in quadrant I, and sin A  
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 and cos B  
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, evaluate each of the following.

a)
cos (A  B)

b)
sin 2A
16.
If cos A  
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, and A is in quadrant IV, find the exact value of sin 2A.
17. Simplify each rational trigonometric expression.
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18.
Prove
a)
csc2 x(1 ( cos2 x) ( 1

b)
(tan x ( 1)2 ( sec2 x ( 2 tan x
c)
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d)
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f)

[image: image31.wmf]csccot

tansin

cotcsc

+

=

+

xx

xx

xx
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i)
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n)
1 ( sin 2x ( (sin x ( cos x)2
o)
sec2 x ( 
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p)
cos 3x ( 1 ( 4cos3 x ( 3cos x ( 1

19.
Solve each equation algebraically over the domain 0 ( x ( 2(.

a)
sin 2x ( cos x ( 0

c)
2cos2x ( 1 ( 0

d)
cos2 x ( 2 ( cos x
20.
Solve each equation algebraically over the domain 0( ( x ( 360(.

a)
cos 2x ( cos 3x
b)
2 cos2 x ( 5 sin x ( 5 ( 0

c)
cot2 x ( 0

21.
Rewrite each equation in terms of cosine only. Then, solve algebraically for 
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a)
cos 2x ( 5 cos x ( 2
b)
cot2 x ( 2 ( 0
c)
1 ( cos x ( 2 sin2 x
22.
Solve 2 cos2 x ( 1 algebraically over the domain (180( ( x ( 180(.
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